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Siu Ming pours 6L of milk into 15 cups evenly and has no
milk remains. What is the size of each cup?

A. 40m] B. 0. 04L C. 400ml D. 4L
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Which one 1s not a property of a rhombus?

A3 @ 24T 7 (two sets of opposite sides are parallel)
B. = :# £ B #.4p & (four sides are equal in length)

C.7 = 2% 4&4p % (two sets of opposite angles are equal)
D.- x5 = 2 & (two right angles)
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A candy is sold at $18. Siu Chi has $389. How much
additional money does he need to buy 22 candies?

AT B. 8 C.9 D. 10
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An electric car i1s driving southwest. After turning right
at the intersection, in what direction is the electric car

heading?
A. L # * southeast B. &  * southwest
C. @ # >3 northwest D. & # * northeast
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